| Efficiency vs Dxy |
> 0.1
<

3 5 5 5 5 5 5 5
0 0.09 1 P P P R
< : : : : : : :

R e
k) 5 5 : : : :

2 0.07 i e e CT A
© : : : : : : :

0.06F -+ froe o e froiie
T O S S ———
004
L

002
S s o 1 e e

1Q

.................................................................

Ratio

o
O
TTTT TTTT]

510 15 20
TP dxy (cm)

—=— DQM_origmal_stepZ_ttbar-phasel-newgeom
ffici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
| Efficiency vs Dz | —«— DOQM_pixelCPETemplateCutChiSquarel5_step2_ttbar-phasel-newgeom

0.1 —+— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

2 0.09F } ----------- ; ----------- ; ........... gmmm@ ...........
0.08 ; m; : ;.m"mg ...........

dz

efficiency

Ratio

3020 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


